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307 212t0| & 15,000 20,000 A5,000
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04 DI2HSH AL R 3,000 0 3,000
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01 = LH 4 Hi 3,600 3,600 0
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DAEEI =2 150,000& x4 3] 600
DAYEZY L Bze HE 9|
300,000& »12& 3,600
>EAINFY £22(HI,4A)
150,000& 104 123l 1,800
DOotA HIIEH =2 800,000& x13l 800
DEIIHEBR AHE (|, HA)
800,000& x 123l 9,600
DAY BHAS 222 150,000& » 123/ 1,800
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DEI IXZE 50,0003 «5CH =122 3,000
02 =224l 334,907 320,935 13,972
O1 2222 2 WA 144,440
DTV /& A= 6,000& «20CH x12& 1,440
DOoIHW AtEZ2 30,000& x50 x12& 1,800
PuUSRY RE= 1,500,000& *12] 1,500
DEIMNE RES 1,500,000& *13] 1,500
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